paip

] [Gnan
S 8 i jgol oo

1 6 jlouls 62 498>

[ 19k de —Jg.th LSLQO'SIJHM) 5979 LSJ"”IJ"‘” Ug.o_jT ]

wogac (g0
oL Pgle dulo jT 09,5

ey o [Py
(s ) e )1 ) ) (]
v JLo JUr J(re J{ oo ]
(s J(e (o ) ) (vinan ]
Camr ) ) (w ) o ) (ot |
( 08185 VO b.agS&wbuM )[ |oo:a,U|‘9.mL_jS;|m]




-

b Pole -dilojT 89S 1 A Jlw (5wl jaw 9o T ~

BN M @i By 8 ey

Fam Conn 0 Mol 03l plaS 5545 (sore =)
o1 3lgT g (4388 yBew wind b tdoded ()
Lles g i glaw 4 (158 (slojla zpmmdb (Y
Sl oy oo (ao3ly (59589 (shae 4k 35 plaS o -Y
(9 155) (Candho 1olie) (o0 Liws 1aols) ()
(09,5 w52 :(P15]) (0094 1 Jaten) (& 1ad) (¥
feawwl Cawyd ojlg W  Sxo -

Bl ol 9 s S5 93 4 & (el 0 0l (F
O139LES Caol il Caa dile g 5 51 Il 4l (F

(ol :pguB) (duiS :418) (o094 (i 1)LES) (Y
(Sl o) (00isS, 151 1 ,50w) (1,Ked 1o ylixo) (F

(Pl 1uzmo) (315 K55 136153) (diams 10359) (a8l 398 192 (Sl (59 16l Soiiy) (GLSU 10l8n) (olmns 1pL) (Blao 139T)
(03052 515 10 y5) (luas 1 Suwgd)

can (¥ G

3,10 9929 (Mol lalé wjlee 9 plus yo -F

« (F el (Y
T il Ja5o T G pg 5095 (I
ple 5 pB ol Syl g conl gl5 Sgllo (2 039 (@
(i pas yolizme ) § Cdlid can 2b 5 (g
oS Bolizes dod (ganlllao 43 glgil 31 Jguad g Jilwy 5009 (0

z -l (F o - (¥ s-o (¥ s-z ()
3,10 9929 (1ol bl Cay plus 50 -0

< bl s ()

a3 9l o 5o L

S QN PSS, + " SN | PN Y L DV

Sb—= ) pme—=a l—1 99 0 4T Sl— v 3 39t Ay (g5 gz (V

u__.wS.wGlL__’e”_Ju‘i.\_Ju.JLo__m Clid S (§4—id 9> 3t 039S O gz (V
A ’f)l ‘73| )| 3' ‘544.;.»» sl 8|)_._9 u».aJL_b 39 A_Y)—h (f

T G yd g 35 plas —F
ol g |y Ui g ]y I QLS 35 (621320 (Gokimmy 95 (o9l (puil 3 ()
ol 53 ol oy g pwar o8 By Sk I (s laadigsy (Y
ol aibogh cpalandd (Gaxld (go,ly0 (Suadd ye Ll (593l rile ST 1) € 2 i ol p S (Y
! ged Mo 31y 3l Sl sl Kl 31 g (ligy Sy3 peld (oL BT 1ol Glis (F
§ ! palin Lolod couudd 05 puoli HUT 31 09,5 plas -V
S ghodl s — s ol 51 = (S35 ()
Sl dass — o liw & Caxs y —anbiols Lo (F

39) K295 solS 3l -alS (Gaudg) i O (¥
aoliplpe — Sogols wiglood b= fi yzr g SCliuiS (F
S1S o0 (S g5 byl () ol 1) 1z 42 g Gl S0 oIS 93y Yo Jonol -A

F8lg ] 95U (Y J5 S cands ()

Sndly Gl 4 1) oS a3 (F Jo sl 4]y (S adly el (7
F99u 50 €l Wl plaS )0 b Fay (Jodail (s 9 (andlld ((ABLT (plogl olai s slaasl,l -4

=2 o Alz o (f

Wil 41S (59— a5 LS o pld 50 iy
O SIS ) (o (g0 Sl b )5
Wiy L § QS S 5b 95—
Jl—oy Bl 39— & o (yL—F (59

Sg— pld il jo 4 £ o eIl 0 (6lg
O = Al (Y

€015 0929 «(4LS 5 o ylxims! i) (T s 3 S plas” o -V

ol GBI 31 bl 9391 4 ol 2 s
535 s Jts 5 o 05 GP—

G319 9= 935 05 &5 (B (S

c Al (Y

Juols plails Sy widd golis oo ys 35 I (Gl
I mod )]0 g (595 4t 9, 05 (@
&= plolys 3L 5l g si—S 1 o = (&
S Dlzee 5l s g—die ol 50 (8
Cigd §0 b pb el Ol plo gail> (
Sz ed o (0

J—0 g i 9 (JL5 (gaL8 5 ()
plaus gol ;5o celd yae Sy an (¥
Emis 35 3yl g ey S A g (F
S50 g2 30 juo ¥ (T U wop lymo 4y (F




b Pole -dilojT 89S 1 A Jlw (5wl jaw 9o T

SlelaS «py ) s s l,T -1
Cemilo ygmw (ol 3 o ile Wil g0 4z (s>

bz el ol i <o ylasiunl (Y Slai LS <o bl cplea! (1
Tl ((28LT bl plog | i (F ple! (wlier ((A8LI LS (Y

d=2 e 3)9s0 Bisle ) SIS 4 oS ol (e I (Slood 9595 995 ol by ) ol cdiligy O dod b i le jo 1Y
93,10 0929 jlg5T
o g o (Y 9w ()

1324 Cowl Gy Wog )5 (gaod (59,49 (ol 095 (samd —1Y
(300 :0b) polie (olno @80 )l rni (1
(acgozta) 1091 3 530 ol (GADAS (o0l JUT (gacgazmo (¥
(abul)) )50 (Sl waly b (G woly o (Jolied gakuly (¥

CEE— P )9—»&.}.& &:A—i') 9 C)‘)—iﬁé J._éu' 5)‘\)

Culid g (o (F can g o (¥

(919) :ppuis

0 gl 9 ot

o sbao b (Fbj axly o Sz g8 (F

Sl (b pf — w99 ) — bl — i) Jobro coad s aojlg plas’ laislu g3 -1F

e 8 o o159l 5 (1
Syl pow = pogromd = Canw 3L — ol T (F

g — Ly § - ,SS0 - (o9, ()
Sty Cawsd =00 33 iy, — 10l — i (¥
93,15 0929 ! oo o )lee plas’ j0 10

3310 o0 oy &y 535 Gl 4 (B8 S (g paie ()

ity 20 (6 b (03] Aidgl A 0 3 1 g cawlio Sy 9 Tl (Y

0,10 ade o dod Ml Sleo 4 a8Me g 9S> gl y2l Ho (Y

CBIAE Gl oy sl 15 4y 6T 0 1y 095 huaddd CD gazmiis g jaus poli (F

A Ogh oo S8l alox glgil 5 wl)le j0 -8

aigSa Lol .oyl ol oylay s 50 ‘55})1 9 oilo la 095 fol 31 aS Cawgl e 79y &8lg 50 €SP .0 0 5T €& bl b (ggiio»
i Gladl 3o « P wiilo g WS 45 095 I 1) ludl a5 e ccanl G ol ol Ay oy LSS Seawgm ol ol 4 led 0

Jorio 1 )35 (Sioram (¥
oo g Jorio 4 )35 S35l (F

€Al abln
ko & 35 (524 ()
Koo 9 Jorio a3 1,35 S5k (F

93,10 Cawlid €SS 19381 Caord ooy pageio b Lolod o 9 plas -1V

— Oly—2 5l 9 y9—2 —0 99— 9,
A "lf < 0 6@‘9__" C.a——?
Gt 3 G I S g PR R 5> 5

19 3 ok

c-<(f o-o (¥

ﬂ.’l..._...».ls § 0_’| 8)_0 a 5p_w3.>)§ él_’ 3);\_3
il ool a0 uligy OM—M)T © y—te0 )
i e Lo g 6= G2 3l =
iy 4l pg il 5o Qlogy (97 &5 WL s

9 oo a5 T slor 4y S (il
o g Al S S (o
G oais 1 ol o 5 S (g
Cmettd O |y g Sl (GO (O

- o -l

Cm] wgliso (lol S50 b Caw plas pgodo —VA

p=old g 4510 dumo 4T (pwid idS sloa ()
Pt 2 &t (3= ) el Wil 9 €l (¥
= 5 Jmog b 1y (95 50915 shol 97 (¥
20 S om0 b (e sl ez 1) o7 (F

9390 o0 009D dwlos S0 g (o (Gdm ) o plas o 1]

gl" ) C)l w0 )'| < ol & Pab C)sl__? ol in)') C)‘j |°l A) N ".".’: (‘
. ” oD - DT 4 S <9 4 9 5 \ Jo eol s Q‘/ 1| Ql ?)}_2 1
Ob— iy 4 (09— &S yl—w QT)_g ol sols , 32| ol & ol guh s (Y

wa—Db 9 95 Jo b (lodl— 939 OS] Al S (490l 3y 4 (F
£3,18 (oo <ol 55w b Cay plas - Yo
« e ool 0 39 (| 23 SK g & UYL s Jo»
b ——aiio I 90 B 0)5 g2 S ySog—dor cedloar a—dy95 9—2 ()
Ol |y ST s 5 (50 ) Ay le—2 59 ) Og—b I —F10,5 ,l3—a (¥

OUPY (U S-S L g Y S { OO [ SO

O > )l( S A

oSS oilod & o S

a3 5y it 3 el £ ol
o= 30 o JL5 sails g plo 51 (F




CCmwl Oy = 9 2B g0 = 4—od gl a5

Gy 9= po Lpoud 5 ju8 oyl 09,50 g
205 L )0y G—dic ol y a1y 09— Jo Lo
Gt Sl 1o (il g et S50 Sz
f iy 8l s 3 )L dmy (il

9 (55— dol  yio jl &S 090 (LS
393 3100 o« 2159
S g pl Sl 5 o1 59 =Bl 00> Zols 4T
P (ot S Ji 93,1 5 J0 3 sy

%0 39 31

b Pole -dilojT 89S 1 A Jlw (5wl jaw 9o T

3,18 (o900 Gl G plAS L 5 Cr -1
bl 4 ol 99 = g ol A

Sl JSiin (i ey L0 § (o) 4 L ()
sl Jo ol a1y Jolw Jie lgyn, (¥
ol 3l 99— o Lo 1) E =2 6B 5 (F
Sl 4y 9950 J5 (o )5 45 (S5 5o (F

Sl gl Sl ylo b Coy plaS pago —TY
Ol (b eSS e S a0 ()

39y S— 4 Gz piS o b —0 (¥

O Ol )y b (o (LSl (paier 5l e (¥
OlS g S 53 8, piii u L LS (F
524 3510 (ogedo cuwld Olal (ao b ) (Gaoghiin -TY

«’g“,‘.olé-\.i» < /ﬂ"‘?s" Gl ol oY1 6 pusS < 1y pilos cpo /g dd&»é&}fﬂ b ads ol |y u';'d|$| as /I”"|9"’c5'° 6‘33 1y pilod cyo»

Sl = g ol 957 os—i 4o
H Y|

“Ee
Sl (g g gl € —0 5100
Sl g e i8Sy s 4 (Y
S s 5 e (T (¥
T
S s 33 ey 35 pl0S (59549 ko —TF
(D)le ol @) = by il § (Blo 32> 45 52 ()

o2 ol Zm i a—on (F

(o 5l o) = Con o9 32 9B ol oo (¥

(bl 5 2 Sxl) = Consi 595 (30 S 31 (0 yuu (F

(31 LMo Sljed g Jawn) = wp )b 5l a5 > G (F

Sl ‘3| Q)I PP o> Q'B
b1 LS — S e 9oy X 25
«)'l ) ) 50 W H iy 5

Flwl jlomo 0o Az j Cdidis> a5 ilo
Cmliuo HLS 4 piiols 455 31y 4 >y

i ;5L AR 4 o1

> da.
v'>4

o9 ? 0%

"3 AR Q' Jys: |) (4 ES Q'S)l s

80,10 (sogeie I cop plas b pj con -YO

e 9 13 (59,
ol 1y T 5= 00,y i 5o il 531, O
L3 (393 g5y (xR st 5159 (¥
S4— (9 (R (pLS wales G e (¥
0= il o 0l aS 25,05 i (F

” L RC )

=yel)

(YF-YY) poioll of g paill ol dazr T Olgandl (5 GoYI 5 7ol ac M
Uk 43)g) Gles 235 Loglbia i3 oo —Y§
lpaad o0 abl |y (59 5 Wyl dias S’ 4 dileglbio 1) (oS dz Ol ()
I3 o0 H1 8 (535 9l V93 olo sl py JB 43 Alaglhia S a0 (Y
sy oo Cuibln 1) Gidgs cambio bl wilaglie gl Ji5 as'OT (¥
I il 2ie3 535 1 gl 5 (Jg 39 42iS olB by a5 s (F
Mg guaiziy ¢ 1 ot a5 bl o) Juazs &na il o ,alb —YV
Igige LOT HS 4y 390 45 ikt Olio)g pur S (5 o iy p2 10 S4ed (132 453,13 3929 Wb laus b ()
IS o SIS 1) BOT 4 Attt GluS Olod G390 SO g 33,5 g0 Juol> p3 0 (salad 511 b Slacus b (¥
1S o )UK 4™ Attt 9 pm S5l L Gl el b ool olusl saed sl o255 slcus b (F

I g gn JiU OF IS8 a5 3590 31,31 baid Jg dyTiso s & (295 (2o 13 Olod o (soled (sl (F




b Pole -dilojT 89S 1 A Jlw (5wl jaw 9o T

il 3> b Dbl 30 Wl JI Jgosll G2 b O Lodls 09575 L3LT ols» —YA
Il p3 50 43 03,5 Olul (550 1 il G2,b 45 Cansl 0393 (] et Lo 01y ST (A
sl ol 3 53 03,5 295 S 332 & Upuam ol 45 0393 (il 12 ST Lo OIS s (¥
sl p3 50 35 33 03,5 S5 (5 238 &1 Oy 0l 45 253,500 15T 0)lg0m Lo 0y (¥
Il ollla> 53 Olusl da Sy 3 & Odawy B2,b 45 4GS go byl Lils Lo oSS (F
Aol U e sgagp phens S Lontie gl s Olgll s ¢y B53SCaodl Lpsaidl poill Eri lS» -¥4
osid ses0 ol (o 3l 2o 1 ploT 457 0o OT co93 03,5 Atinds ) Lo slads 5y it o JoSitd 5y sl i olo sl ()
s ss0 ol i 2B 5 o) 43 Lo 45 oS0T 03,5 o0 dtinds | s o ,51ai1SED SO b ole Sy slo 5 (sanidl (¥
139100 ) o slads 39y a0 JuSiis S5y ain 31 45" oo plb (5o, yg5 euidsion ol pb oA 5 iual,T b (B (V
Igen 1 US cidls 5y i 457 55 slo s olo 495 (m3is0 38 (G sladg p pliT &5 olSaa (F
:e_z:aJl O;‘_‘”’
13,15 a5 i b Casbgn 457 Ko (oS 1 JunSIl canslis ¥ ol O JunlsC ¥ (1
loSe sk Sl IS plowil 53 pale sl g (sl Medlocl oy AB3loell & paall Jusls5 ¥ (Y
Lttt o9a 439K 45" S 0SS 1y S OlgeT 315 (50 i ol 356 Lisall b ol 55 U salis (¥
392 JOLe 45 o 53 5,5 g 95 b eansl 55 jguds aSOT Jaliz b il 5 Sle Gaid sl oo (F
:potiol) canslioll yué cyiz —¥\
DAl 50505 53 45T (puiaty (2 or slaadds )28 B e § el S o (A
13,5 Ol55 p3 0 3 pe 41 (S35 15,05 ¥ Ll bl L] s (¥
| iS55 45" 0255 45 OT oy sty OLS b 90 Ul 95 a8 5 aAlids o> e s el (¥
lols GLL s b ol e oS 5 2L g5 Cawgs Olie ] olusYb ST il (F
sgumall gae ol sael iy eloizl Calise sladim) 53 (2SSl Lo (93 juac Ho» -YY
laikisioll dieloiz I S¥lovall (b Slelay] & pab 36 pusloll b e (b ()
e losz Y1 diisiall S¥love G Olelas¥l o 38 6 pudlo e (b (Y
kil eloir Yl Sligh b Olelas] 5SS pudlonll puaall G (¥
lelosr W Ailiskoll Slig3idl b S ol bl G o S (F
ppdazigo B L B 3 1 51315 Ol Tginsn 4555 1) slows 2l @dg powms 2 Sy 5l B> 1Y
Lladdl iy e oyl solal §ua 5l 1ia Ul (5 5 S il clo Losie (A
!;La,:,aJt,%;dM,imgu?i?u@_,J w29 S 5 S b el S e (Y
llid Jl> b i, ls! b JB S sall 3a glogl coly cis bl (o o s G (¥
il iy e Ul ol ¥ lgadl JB § s s0ll o JI 55 S S b po <l Lais (F
il Gl Loy (P -FY) Qi e a3 88y JGIN (paill T3] mm
3sh of g Juill O Oslyi pill 5 Y o Ay ol gure pob il 5 Algguns Honid ¥ Olail Jylizy angh 5 Judll 0
1S jaoll 5 ool 5 il 5 50l 5 ol 3151 5] 1Jall 3y po Sl B2 gy
o ¥ a3 5 i b ogs @By 1305 L 4l 5T 9 5 p0 4SS slbs S5, Y 5 Ay Sl 3 (G 1l @ ¥ 35 Olges Judll
Dl Ble 52 b lale CBlys 5 05lo e Bl Juill il Jsb G2 bl SISy
Y il 1555 5 Ulgal (o Iobhiams 5 Logaasd lp O3lall by u> dale Yoy Comuol WS s e 6 LT Juill bl g
5 wolelw gl of ¥ U pliy ¥ ,Eo; ol b helu \§ iy 6T SBL ST e G Olga> 905 SUlgundl auias

i Vo (o jany 5 OUBT L JI oo 659




b Pole -dilojT 89S 1 A Jlw (5wl jaw 9o T

.............. el Judll Sl o+ 1,0 Sof -VF

M e gy @lay & LT sz (¥ Iblgeodl o) JST ¥ &l (3

lay Jolisy 5 o pa &) psb 5 39 (F 1o o lamly T o5, Y T (F
.............. Slgaondl ks NS e ELall Na] Y0

IoBLA JST of Judll gabiion (Y Tobus¥l Jio oy ¥ Juddl (A

102l 5 Joodl 5 il 5 o pil) 3aly Aluawg Juill (F 1S g e 9 0 )bo e Judll bl (¥
Solbs Judll 5,53 ¥ e -V$

lazhs dogd sy oo (F alio 36 b ady I3] (¥ 1 yi> b @y = (¥ Loysi o o Jas 13] (1

il ae ~¥Y
lalos 5 dogi slaia b OLus¥l 4l Jadll O] ()
o 3Lall 3 gobia sy (o Juill QLI Bl g (¥
o puiio clS" o) 9 sl of jads 9 &y LY Judll s (¥
LYl Glhsl 5 UL JST 1366 1,85 4138 e Jubdl s ¥ (F
(¥R 9 VA) Justzadl 3 sl ppac ®
Sl B 4 3l O ey Jodll 5 (il 9 Y1 o Ay Jols e f,al» -YA

2oy — b I (F JEA I v VAL el -G -2 ol (Y 356 - U (o
oo e Bl 3a 9 il Jgb G bl I o ¥ 4 5 i 5 Logs by 31 -4
oo il il (F Bl I e (F L - g Bl -0 (Y i =i - ()

(F e —FY) G iall Julonill g Olye¥l b uiall e ®
bz —F +
lleb ooy alelb o 5 Uoma 59 0 Job /(sine — polaall (gise ~(UShe] O93) o=l 5 Jins ()
Uove oguaia 9 €OD 5 9 daled Aol /plaol e —p3¥ gzl g Jire - gl Jab (¥
Foll €300 yrouds aAleld 5 g9 0 Jab /gl 5 Jine ~(Jelis Ol (a) (S 3y 30 - SLU (¥
e 98 50 9 €OP s 5 lad Alasll 5 «Olazh alolls /o pan ~Siaita ~(Alelio O p0) (5 3430 (F
oz —F\
Sl 08 Bi> awai Aadke 5 pWI 5 omy iguaio Job /daie — uilill — g e Job (A
Blab Aozl 5 i5lally g9 50 Job /0 ynn —polaoll gise ~Bgzl 5 Jina (N 3,500 (¥
S Igll aoid alels 5 el 093 Bioms Dganin /igine - palaall (e —p3¥ (¥
Blab Aol 5 55U €l o> Alels / Syorl 5 Jine — S 3 om0 - uilald (F
4« SUlgazd> —FY
8 sl guie 9 4 Jgaie /Ul B pas — el —i5all Ml gazr (0
8,00 Loy g5 50 9 Jolb LU /O it — 0 pae — Aghin Ao 5 G2l (¥
gy Jaid g3 50 5 Jobb b /0 pra ~ Ul B pne - Al sl 5 Fiiae (¥
8,0l Aoty Cgaain g 43 gaia /D puain o paa —Jl G pae — el — sl (F
(Y -0 ) BB Al oo Olgzl asliall opac mm

ol el odle Eum opo ity « oD e —FY

ILsls dae e iy Jolall Lol Eal, (Y s ,b iy ¥ Jslall Lol o (A
Lhid Jolall ool oS JI Ogratun bl (F Ialy JS 5 e ol sl o] (¥




b Pole -dilojT 89S 1 A Jlw (5wl jaw 9o T

bl Oyl (S bl e -FF
sl sty o aianod] Bl sl she guycog (\
135" Lo 3po M i SUloeial e 90 sy all b5 O] (¥
!3,,'Su,gsw|,,nis;f:\s:gstsasg,ow,ds;wwgoﬂ(\"
loSle dios ) Olgel dil gty @SSl 5 4 Iskosi 5 Goull pISI Iy O (F
(@LYl B) sl e -FO
I bbiiuodl (o 50 33ba) S OF (e Laje pGYI .\.-»i—CL,..o (
fo3le duspdall plof (19033 wdgino (o Spedill g y58 Loie (Y
e Lol bt ol (2330 Jos cpo Spmall Jor I s (¥
leljaill ol Sble] gaze Sommall abae a1 OIS (F
sJuole e < By e -FF

el ol Yoles Sl bl Jaoi Yo (¥ (s 093 G a5 ¥ 1 JLe b (1
1 Jles bl U] s Loolas ¥ (F Wl bl b JS L saie 5 U] 2T 36 (¥
ilas oyl ie —FY
ool & guas 4535 il ope 5,1 13a jliag (¥ laly b Gy )3 golall bLaI ligy Oebuwodl Lzl 3 (1
Iwslonld Luslio BLSo s26 ol o3 5k Liliog (F otlS il gty Joms pois gaiomall G5 axly JS (¥

sasd Jorioll dd ua Lo opus -FA
bl by Ogatll iy yadll 555 OIS sl p3 (A
Ul ez Ao G p2 JS (3 aSToll JST (¥
1oy sl G irin il Lan oy 5 (i s 2o O it o (¥
gyl dallbed agle SBoYI ST pudal S ()87 Ko iz Sa (F
GBI e Lyl Cilisy «lisn AalS” ke —F4
Igs Lol G iy JSI O ol ol mg_;z;als & e (0
LlasH B O ponll (b poaielonds oy isle T s 30lomold O (¥
> a5 lzly 1ol pabing o) Sliwaldl] 250 Of ok Ja (¥
oYY Aol 553 1,85 Jylons A1 PN T8 B O] (F

T itiy de 3 dalall 0 & il - pleadl @) 1,0 priall oyic —0
Wals 1lgzil (F Wl dalle (¥ Tlgzal (¥ Le (A

| sV o= S

Sl o 51 (S ady s asT oIS ply 9 A0 o0 Lite (Sodlon 9 bLI )| ((Kiwwgny &1 (55u 4x acgormo o 50 —0)
Comnzodd LUTSIS 8 o] 3l (2,91 5 Solgloddl Sl G5) - Gua O
Comnogold LT TS 43 1 2l [ Y1 9 olgloldl G G5 ) - g (Son (¥
ol ol T 15 Jalil 331 5 o 31 5 clglaldl GLs o5 ) —Bas (1
(ol J50 LT iy Jlil Y1 5 5 31 5 @lgloldl G5 (5 Bl - (s )l50n (F
3,19 0,Lal o9 9o plw 3l (gawe 2 sl 53 2Ulg 9 Gl (55 32 1 4y p0 gl plas -OY
LCERNANA I SECTAPR IRV IR I 0
(oLl (o @BLST; 5 ol 5 1 3 oblidas o 50T 2y L35 0 ) (¥
(o) lghd 19235 ¥ 3 LB Y3 (571 (05 Lo 195 Ll 3T L) (1
€31 Joo o0 4] D31 (520 g a2 gy Lo (ol 9 LT Lsls i o) (F




b Pole -dilojT 89S 1 A Jlw (5wl jaw 9o T

Sl (S 5o oybusl gl Slao HIGH gboaaly ,Kila 5550 plas —OF
S0 3 g 59551 Sl 4 e 498 9 ;50 (S sy b 03kl ()
by gboo iy s 5L 9 (LS (S 33 Canmngr 31 kel (y 3 (¥
Lo (sejgy iz (S ol o 3512 9 0l 3 s S0, s (F
0olled (555 ol yo 4y sLoawny (O 5 (5 9,515 51 (po N (F
w18 1y Blizsimw] azr T 49 b yludl B ol @531 o6 4y o 999 () Joe sLasBb 1o ylae 4 ddy oo sasT oIS ply yo s 51 -OF
) ) T psn (st oy
(oo 501 G301 5y 90 0 1Y o) CSUall il Jla3 95 53 Y L] o557 5 L2 @SS Wl o 1D 0
ooy 19,051 Lo 19 535 (9301 g (o ST 32 U] Lo Lo 5 (5,91 5 olgladdl LA Lo g (Y
CLrills (il Jozed ’&,‘y’u & Ot damddd 5 Slball Ighok g 1gaaT o A1 Jaind ol (F
(G b o G0l 5 9 4d ) Y ol gy ] (oK3505na0 g0 U] ) Y ) (F
Camline 4z 4 9 ol g0 BT ypo G oIS )0 ool g o LS Ls 0 ki 00
g oo Jrod 530 (S 9 Blows] 43 (r0 5 Boylawsl — ol )
g 50 Jd 5540 (no) 3 Bplows] 4 ran 9 Lylawsl —pg0 (¥
Dgise 00 0l g Lyl CdiS s 45 Wigdh s (b5 S 90 ) 9 BgslowsT — Jof (¥
g sn 00 3l g L ylul CubiS s 45 Wigdh g0 b9y G900 9 BslewsT —pg0 (F
§al T b potdond abs pb 4T pIAS 3 WIS g0 lginel ol & 9 wdd g0 Giel)T (il 4 (S 3uz 42 -0F
(bl (s J8) - 103 a4y JS'g5 (Y (bl (s JB) - 103 &5 oles! O
Craay ot (Gohy] ) —1s &y US55 (F Cray 401 31,1 )~ & los (F
ISl bioe ol 5 jakiie (mod & el SULES (ol iz (25 b Loiyds 3 536 ol iyloy o0 3 GLo plol -0V
sl T 1 S s G i T a5 WS Slelyo ) 6,0l wld g iebgy Conilyi dBlgs wiligns 395 33 1y ermnrin ol oyl
Cotased o 0 pods 53 paal 5 Lo 45 Lo U i 5 caed ¥ ) ~Blis — oLl (SzsS 3 )i ()
(ot o 0 yods 1 paal 5 oo 34 Lo U1 45 pod ¥ ) ~ i — 3 i 3 (s (¥
(Lo 5 o55Too0 51e8 Lol o3l LT 0B 30T (35 L) —1g5 — sl Sz g8 g 0> (¥
(Lo 5 o55Too0 1e8 Lol oS0 LT 08 30T (5 L) —1g5 — (320 ind g (mn (F
Seuils anlys analy (sl sl 3 Ol pes 42 oK 3 > & 320 ~OA
Dyl S5 g 1 ol U (0295 &1 %00 cand 5 9 (2 LBT O
9 ol dralr 5 31,31 Gaan g b axalr 3o ol (5,15 (Y
g ool &y 9 SIOLT Aol 45 B L ylS 9 oS oy JM> (¥
S 0,181 yKho 31 (ot 3 <5 y0 4 ol b anols B slgr 31 analer o 3 (F
gl 9yl LS 33 1y ensl pladd g wiloud lgms lgaly Uil 3 &5 Wils g0 JIH g J3b 1y el 4z S35 b e @ pas 04
Sl oIS’ o (4w po
WS 00 (5599 oUS 31 g widund luno 395 1 ylas &Blgo 50 - loa! b ()
S (o0 (690 S 31 5w Laluno 995 1 a5 Blge 5o 19 b (¥
Nyl Loy 3l g wjls Cuwgs 1) (295 -l b (Y
Wyl g 3 g Wiyls Cawgs 1) (295 1o L (F
f20,5 (bl ol ()8 wlo 9 050 Bl 58 Gl ol el GUilo Sb g0 G uz 4z -F+
S iliso plgdl g galgar ) gl (2 )05 w1
0 Gawgm g9y 9 ol el D0 50l el (¥
OUT lg5 9> 59 (S 5w 3 (ol ply 3l 9 30 a5 50 (F
Olbli )l garwg pas g sloial (S5 9 oo )8 mhaw (392 2l (F
b aalgs s Mol e go o9l (Jyg0 4z 50 s plol (lidkus 4 425 L )
il ol o1 & S 5 wled B> ©lezr lad 53 1y 055 Sl godlol (saler ()
55 315 (ool samaler (55100 g 212! SIS Gy p0 B 0,1 by (¥
D (32905 (ol Sl ygiuwd 9 Ml (20 b Gudaie (ilgd 51 (glas goo (F
bl ABlS cawlicio 6,131 5 )2 olfiws 3 (g 20 oDl 1535 (F




b Pole -dilojT 89S 1 A Jlw (5wl jaw 9o T

€010 (ogtpto sl ady s a1 IS b € jior oy i C > —FY
(s 155405 5 ol T a1 30 Tl oy 5 D) (0
(50 501 s 5 Yot Igmabl o ol gl 1957 cp 1 3T LD (¥
(oI R 5 il Yy 559 5 oS om 051 LT 83525 15 6D (F
U3 % 9 L (ygoid 0101 19207 501 5 Wy 3 01 15305 W) (F
Sl ouud 001 Hlaid (yuer Calalo 41 09,9 49 Comnd Ay s & T plas’ jo -
Gt o cor 1 BBle 5 i 19,0008 (2311 g3 19y L3 0
Canod oS5 (0 o535 423 0 ¥ 5 408 o oo JBLII 4G 9D (¥
Gt G 19 )35 5 038 e asdl Wasd 1,500 15 T 1 L Lss) (¥
Gobotael e Wl 1 51 o BT ! alid e i 36 g U] 2650 G ) (F
fads Joolo (oodl plle (5l (gl az (cdpdd Gl g dastuo 3131 9 (oDl glacamasds Cun i L-FF
of o Gbglesl Lim g plle )3 (sl @3l (Gloadn dil (5 S (1
st Cudlol saod 5 y9lan 5 Calyy GLOLS Gl cua 3 G (Y
Olial a2 p0 50 4z gi g (oMl plle ;LS g 4ligS )3 pgane (lolol (B y20 (¥
CangSer JuSild (51 I g crainsly sl g oy (GUoemarids b o0y (2 LT (F
108 )5 ol o0 Glamet 4z i (ol 310,50 @980 Wyl 1) 995 098 JLu A0+ 298 i 4T Wb g0 S 155 T B Ayl 4y azgi L5
)13 Aoll s 53 B Gage W pdo Calol g Gy (F  anl (Ggine oY & bygryo & pas plol gy Lol ik (O
ol 50le (5501 ® puare plol SV gbo yas (F s (9316 ok (5 p0l e plal (Y gb yo (¥
O o 3) (sl 5T 9 il g sl (o 2 brasgs i €5 Cg¥ g 3 €0 g 00 S hns (5515 Cergd pas 55 —FF
€210 Y 38 plol Cardgino oIS (315 aoll €. 8815 U (on 55 ¥ 518 G5 19,450 (yglogall
6l oYy — Loyl b (ol 4~y Iy (¥ P15 ¥~y Iy - byl b gl 4 O
S a0 — L (61,15 b - aid Iy (F (M Capnz o~ Sy — Lyl 51,15 44 (Y
o iy Lo (6Tt &5 (G050 9 38 ablssll cooleels) axdly (sl 597 19,9 45 0l 5 (ot Ablipes gy 5o B iy 3 5y gbor (il Y
3,15 (soghdo cowlid dly ydb gal plas' b <pau i 1oz 5l ol s 5=
(i e 01 (5 21 o) 550 548 521 e o500 & 8D 0
(ool ¥ (iUl (S0 5 coainold 3 gmod 5 8501 2 3 (¥
(s ot e § 0t 5ol 0 9 sl Wy sl (g3 90} (¥
(S o @hL3T) 9 il o ol b eblides o 30T (2 LS 0 ) (F
93,5 o0 potn 2590 plotS o ST LoF oo o1 Ty S 5 oo Il 1o JA1 263 Lo k1 o) sl o suT 31-5A
2oL gy 3l by g ad (o celbl (Y Py a byl gud o ol (O
1ol 5 3y 512 Wi 31 Lyl (F I 41 cpao yolo 3 4oy oo yo (535958 (F
Sl Calls )0 dumgi (GouiS Al 5,90 plas —#4
S @ 1y (ASCine by sty L [y (5 slous S 9 S SIS Gler sl 53 Wighis 31 Jiawn wilgi 0 oS ()
led s 2ol 53 Wights (g3l G039 53 Wilgi s 55 asd 5T ab (33 S & ights ST (Y
g s o (e )5 2l (6,R0 &5 Akl 1o 1y VLS ayly BT 31 Ky yo s iy o (F
g lod o0 Colod ccawl 08,5 Cruro il g 4 gouatio (Gow 4 g WS 0 0yl0l 1y e aS cawlas (F
€305 o0 poto wollao plS s bl o 130 590l 035 9 ) I ) s pb T 51—V
gl s 4 GoiS 151 45 el 08 Gl (sl sl 9 Ko g I 45 ! 31 BT L (1
5K 158 s bl g 30 gl gl o0 Eaely Camwlouds HI55 195 9 (po ;50595 Wiglasy aS ol 4y LT (Y
bl gn & i T il 5 145 Jgus) 315 51 o8l o b 9 o5 5 cuelbl ool yo s (g3 (¥
CewaS (iiw gy (g L 0929 LS 4 by o050 el lo (gouiaSe ol Lad las» aS el ay sliel b (F
€39 g0 Sl 30 pstio plas €195 Gl 5 1,510 Gl Lol 56505 G (sads b T 51—V
8728 0 23300 el i 08 (sl 41 (155 1 6155 550 3 sl bl & oy (3910 L (S (gl )
ol gole pol bl (gl HLS T (bl 9 8 15 (o0 ©yge0 (ol poly B25b 5l g Wiglas galwg 4 La Ll calan (Y
WS (o0 (e [y (5135 S oy sl ol (Gakamg 41 Wiglas g Cawl il 4y ol (310 (LS (g (g adundd (Y
g0 gL bl 4 1) oS 9 (63135 5 ol b ()T 9 2,508 o0 i yg0 ol ol (Al 4 WLl cslan (F




b Pole -dilojT 89S 1 A Jlw (5wl jaw 9o T

£3,10 (Ll (S gl (Fyed 4z Cls (e p oS> pllii g Gl -V

035 o0 adle OYLS 4 (w0l 53 Ll Canlidgo cazgo ()

00,5 0 b ludl 1503 9 995 b sl galaly Cuw > pulaid o (Y

09,550 9l LS g 00l,l (6 5 )4 g Ll (2ligy 9 &5 > jlwdin (¥

935 50 Sk Ll jl wiglas Culos g 9 Conl (ol by jLwdiuo (F
Suilodge yd dz FuscSasgi 3590 30 I8 0gld & pas 45 wiglas -V

D9 o0 ool drgi PR &1 ()56l Cumano 1391 (5! ()

Lol LS Sogicn g oyl yae curgo ol )ISolS gangi logls I (Y

o0 32y (o Conzmo 3 (L3 g2rg wiuni a5 Cuwl (5 )98 & gl LT 4 )l Comane Lacil (F

0 p0 50 (30 (G 43 (ool B 3 sauild oo (LT ST 45 sl (598 & (3l 50LS Cumara S 5 sl n0 lasiid! (F
Sl T Sk s oIS play g Wil ond Gogol B 1) (§3u 4z S o0 I )3T (gl 45 Jlo e ) (ool (gamolr 0350 -V'F

€ oK B 95 9 5 9 o Ll Sl Lol g0l — s JSLE L (sl 51 O

G 331 om Ll 5 ooliad 73T (1 bl i3 25 0 ) — S om oolicinl Lis (so y90 51 (¥

G 351 oo L1 5 o0liad 7531 1 bl B3 25 0 ) — it o et 3T (5035 355 31 (F

Con oK B 955 9 54 5 ol LI SLd! LT gl — ity ol 5o Lo g4 9 el 5 (53,5751 (F
S (oo Jooxi 1 Lo go3T g Sl (g0 42 U lioids 7 s plol ply 4 425 L -V

bl oo Sl g §> (sl dy 9 3900 P GLAS @ P uas b ()

el o0 Glootdl g G S5l g Liugh Gaos 5 Jgue 32 655 (F

el LT o5l 5 oS EB (@l (00 3l Ailiod 5 9 Jgline milyis U (¥

oS ol G aass 53131 9 ez ol (5l 45 S o0 o (5 y3b095 &5 o (F

" THICS S~ PR L) sl SA)

Part A: Grammar and vocabulary
Directions: Questions 76- 87 are incomplete sentences. Beneath each sentence you will see four words or

phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence.
Then mark your answer sheet.

76- It is necessary for every student ............... to class on time and well- prepared.
1) comes 2) coming 3) to come 4) who comes
77- Simin told her brother ............... the radio while she was doing her homework.
1) don’t turn on 2) not to turn on 3) not turning on 4) he does not turn on
78- The refrigerator is full of fruit and vegetables. My father ............... to the store.
1) must go 2) should go 3) should have gone 4) must have gone
79- It was ............... large earthquake that it damaged almost all houses in the village.
1) so 2)soa 3) such 4) such a
80- We were glad to see that the. ............... of more wood to the fire made it brighter and warmer.
1) addition 2) formation 3) pollution 4) location
81- Trying to ......c...... the weather is not an easy job, as it requires special equipment.
1) estimate 2) mention 3) forecast 4) express
82- Farid does not know any French at all, so he should take a (n) ............... course for beginners.
1) direct 2) scientific 3) elementary 4) entirely
83- We were late getting to the airport, but ............... for us, the plane was delayed.
1) luckily 2) basically 3) certainly 4) entirely
84- Ali’s parents should help him more because his ............... in recent exams has been poor.
1) quality 2) victory 3) promotion 4) performance
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85- There is still not much ............... like movie theaters for young people in some small towns.
1) employment 2) entertainment 3) connection 4) environment
86- Bahram is not a child anymore. It is time he ............... life more seriously.
1) made 2) took 3) put 4) did
87- A: “Why are you going out?”
B: “l am going to ............... my coat from the cleaner’s. Is there anything | can do for you?”
1) pick up 2) look after 3) call out 4) make up

mm Cloze Test

Have you ever hard an x- ray taken? If you have had a broken bone, toothache, or taken a suitcase
on airplane you ...88... have. At the dentist you put the film inside your mouth. An x ray is a special
way ...89... a picture of a bone, tooth, or ...90... concealed from direct sight. X rays are useful in many
ways. By reading an x ray, a doctor can see if a bone or a tooth has a cavity. The x ray process ...91... in
1989. X rays are useful in finding other hidden things, too. For example, bags at an airport are x- rayed

to see if any dangerous items are inside without having ...92... and look in each one.

88- 1) briefly 2) exactly 3) probably 4) actively

89- 1) talking 2) to take 3) to taking 4) being taken
90- 1) object 2) issue 3) field 4) unit

91- 1) discovered 2) had discovered 3) has discovered 4) was discovered
92- 1) opened 2) opening 3) to open 4) been opened

mm Reading Comprehension

® Passage |I:

For many years people have been trying to create a simple universal language that would serve all
over the world as a common means of communication. In the last three hundred years, more than
seven hundred such languages have been suggested. The most successful and the most popular of
these is a language called Esperanto. It was invented by Ludwig Zamenhof, who lived in Poland. When
he was growing up, he saw that people from different backgrounds who lived in Poland had lots of
difficulties communicating with each other. This often led to disagreements. Ludwig felt that a
common language would help them understand each other better and agree with each other. So he
began working on a common international language. He started his work while he was still at school!
In 1887, he published some information about his new language. He did not use his real name. He
used the name Dr. Esperanto (which means “one who hopes”). Soon people from all over the world
became interested in his language, called Esperanto. Today, Esperanto is spoken by about eight
million people throughout the world. Many governments and international organizations recognize it
in many ways. Esperanto is often used on radio broadcasts from official government stations.

93- What is the passage mainly about?

1) The life of a Polish school box

2) Invention of a universal language

3) How Esperanto has helped people

4) How people often do not understand each other

94- What does the word “these” in line 4 refer to?

1) Years 2) Means 3) People 4) Languages

95- Which of the following statements is TRUE?

1) Ludwig was afraid of people, so he changed his name.

2) Ludwig started to work on his idea when he was very young.

3) Esperanto has been widely used for the last three hundred years.

4) May people did not understand Ludwig, so they disagreed with him.
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96- What do we understand about Ludwig Zamenhof?
1) He was hopeful that his invention would become successful one day.
2) He had difficulty communicating with people when he was growing up.
3) He spoke to eight million people in Esperanto.
4) He worked at an official radio station.

® Passage ll:

Weather describes conditions, such as rain, wind, and sunshine, that occur during a short period of
time in a particular place; climate is the overall pattern of weather in a region. From one moment to
the next the weather can change. A warm, sunny day can be overtaken by a violent storm. Dark
clouds form, high winds blow, and rain lashes the ground, yet it may be only a few minutes before the
sunny weather returns. However, in some parts of the world, such as in parts of the tropics, the
weather barely changes for months at a time, there it is always hot and heavy rains fall.
Meteorologists are scientists who measure and forecast the weather. They do this by studying clouds,
winds, and the temperature and pressure of Earth’s atmosphere. But despite the use of satellites,
computers, and other technology in weather forecasting, weather remains a force of nature that is
hard to predict. Several thousand weather stations on land, ships, and aircraft measure weather
conditions around the world. The stations contain instruments that record temperature, rainfall, the
speed and direction of wind, air pressure, and humidity (the amount of water vapor in the air).
Balloons called radiosondes carry instruments to take measurement high in the air. Weather satellites
in space send back pictures of the clouds.

97- Which of the following is TRUE about the difference between weather and climate?
1) Weather refers to predictable atmospheric conditions.
2) Climate refers to conditions such as rain and wind.
3) Weather is a fixed climate pattern in a region.
4) Climate refers to a more constant condition.
98- According to the passage, which of the following do meteorologists NOT do when forecasting
weather?
1) They study clouds.
2) They study winds.
3) They go high in the air in special balloons.
4) They examine the pressure of Earth’s atmosphere.
99- What does the word “barely” in line 6 mean?
1) Never 2) Often 3) Seldom 4) Occasionally
100- Which of the following is NOT true?
1) Weather stations are not built on land only.
2) Weather stations contain highly advanced equipment.
3) Radiosondes are balloons that take certain tools high in the air.
4) Computers and satellites make it possible to predict weather without any difficulty.




